
Q1) Attempt any five of the following : [5 × 2 = 10]

a) Define public good.

b) Define micro economics.

c) What is a financial advisor?

d) State the defence budget structure.

e) Define defence five year plan.

f) State the role of the Chief of the Defence Staff (CDS)

Q2) Attempt any four of the following : [4 × 5 = 20]

a) Defence budget

b) Union budget

c) International Telecommunication Union (ITU)

d) Auditor general

e) Financial advisor
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Explain about Indian National Space Promotion and Authorisation
Centre (IN-SPACe).

b) Explain principles of the financial system.

c) Explain formulation of Defence five year plan.

d) Explain parliamentary control of the Defence budget.

e) What are the new projects that India is now working on Defence?

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain in detail the defence account department.

b) Explain in detail the structure of a five year defence plan.

c) Where do you see yourself in the next 10 years in Defence?


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr nmM àý gmoS>dm. [5 × 2 = 10]

A) nãbrH$ JwS> ì`m»`m Úm.

~) _m`H«$mo BH$moZm°{_Šg ì`m»`m Úm.

H$) \$m`ZmpÝe`b A°S>ìhm`Pa åhUOo H$m`?

S>) g§ajU AW©g§H$ën AmamIS>m gm§Jm.

B) ga§jU n§Mdm{f©H$ `moOZm ì`m»`m Úm.

\$) Mr\$ Am°\$ X {S>\o$Ýg ñQ>m\$ (CDS) Mr ŷ{_H$m gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) g§ajU AW©g§H$ën

~) gd©gmYmaU AW©g§H$ën

H$) Am§Vaamï´>r` Xÿag§Mma g§K (ITU)

S>) Am°{S>Q>a OZab

B) \$m`ZmpÝe`b A°S>ìhm`Pa
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr Mma àý gmoS>dm. [4 × 5 = 20]

A) B§{S>̀ Z Z°ebZ ñnog à_moeZ A±S> Am°Wmoam`PoeZ g|Q>a (IN-SPACE) ~Ôb ñnï>rH$aU Úm.

~) \$m`ZmpÝe`b {gñQ>r_Mr _wbVËdo ñnï> H$am.

H$) g§ajU n§Mdm{f©H$ `moOZoMr {Z{_©Vr ñnï> H$am.

S>) g§ajU AW©g§H$ënmdarb bmoH$g ôMo {Z §̀ÌU ñnï> H$am.

B) ^maVmMo gÜ`m ga§jUmda H$m ©̀aV Agbobo ZdrZ àmoOoŠQ> H$moUVo.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àý gmoS>dm. [2 × 10 = 20]

A) {S>\o$Ýg AH$mC§Q> {S>nmQ>©_|Q> g{dñVa ñnï> H$am.

~) g§ajU n§Mdm{f©H$ `moOZoMm AmamIS>m g{dñVa ñnï> H$am.

H$) nwT>rb 10 dfm©V Vwåhr ñdV…bm g§ajU joÌmV Hw$R>o nmhVm?




